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1-7 AN T EEE
IH# B k= ==X e k=
HEAIEES yf kN/m® 18.00
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HERITEOEAMEBIDSS Hw m 7.500
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e FDERE| ofmEnE Xq m 6.037
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e FOEFAE| Bk Xw m 0.000
T E Ww kN/m 0.000
28 B (D #h = RF K181 7 Hd=kh-Wd  Hd kN/m 146.339
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REEEICERTIEEIIRITRVEIZEYKRD S, (X=2T7 I p.62)
RAEEEEEOEEMERAINER T T - TR IICEDE, LERTOYEAE
HHAINWIFEHWLEOYEBEZALNS, (=217 /L p.62)
RITCGCRUEICKSIETEFROAXEANTELT 5, (¥=27 /L p.205)
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O EETDOEAMERA ()
o: REEREmOENA C )
S:IREHEREmOEEERA 5= ()
B: thEEERAE C )
0: mEESHA C )
C: BEmETD#EES (kN/m)
Ls: I RYFLD RS (m)
AITCGEWERICED T ERHEE K
I# H e B L BB E%
HEATEE=E Y kN/m® 19.00
EFEEL SAMEIA o) ° 30.00
$hE N C kN/m’ 10.00
RAEGEEETEDIER A o ° -18.435
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wRARA 0= e
HESDES Ho m 0.000
FTRYBDEESD FHE A DXEEAE Xo m 0.000
EAE B DYEELZ Yo m 0.000
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CGAUEE (GSULEDERE Wq kN/m 31.267
= SO EDH = Ww kN/m 0.000
& 5 H(W=Ws+Wg+Ww) W kN/m 458.329
TRUBEKFERDLTAHE w ° 51.0
RAEBEETmOEREERA 8 ° 0.000
FTRYEDES Ls m 10.522
TIEEN P kN/m 94.684
TE JKETF Ph=P-cos(S+a) Ph kN/m 89.825
$RE T E Pv=P-sin(d+a) Pv kN/m -29.942
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= SO EDH = Ww kN/m 0.000
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TRUBEKFERDLTAHE w ° 50.0
RAEBEE T mOEREERA 8 ° 0.000
FTRYEDES Ls m 10.674
TIEEN P kN/m 80.211
TE JKELTF Ph=P-cos(S +a) Ph kN/m 76.095
$RE T E Pv=P-sin(d+a) Pv kN/m -25.365
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= SO EDH = Ww kN/m 0.000
B T (W=Ws+Ww) W kN/m 634.394
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T—ILTZILABRTDHEMKEES 7t kN/m® 19.000 [ 19.000
T—ILTILADES Hw m 7.500 7.500
THELICKOIBMERE dg kN/m 42636 | 42.636
RIEBEEE LEICERIDERE| q kN/mi 10.000 0.000
B FEICER T 28 E adw kN/m 0.000 0.000
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qu= & "K*CNc *Sc+ K*q ‘Nq-Sq+1/2-yf- BB -Nr *Sr
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B: {RAEHEREENE = 4.000 (m)
a. B: RBEOMIKEZRE
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18.000 (kN/m®)
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REBEER S ITAMBR NE Na kN/m 195.136 | 185.136
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BEEMOBEE We kN/m 27.440 | 27.440
a0 —FDBE We2 kN/m 1.840 1.840
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1.000 x 1.525 x 50.000 % 20.72 X 1.000 + 1.525 X 12.600 X 10.66 X 1.000
+1/2%18.00 X 1.000 x 0.400 X 6.92 X 1.000 )
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a. B: RBEOMIKEZREK

a= 1.000
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